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e curve_fit
e curve_fit with bounds
e |east square fit

2EEBR Y ZMNEERWVD, manualZE BBMNSES ZEMNTESZE VWA, bounds&h
params DAJHAENEE.

import numpy as np
import matplotlib.pyplot as plt
from scipy.optimize import curve_fit

def func(t, al, a2, a3, a4):
return al+a2/(a3+(t-a4)**2)

xdata = np.linspace(0, 10, 100)

y = func(xdata, 1, 10, 1, 4)

y_noise = 0.2 * np.random.normal(size=xdata.size)
ydata =y + y_noise

plt.plot(xdata, ydata, 'b-', label="data")

popt, pcov = curve_fit(func, xdata, ydata)
print(popt)

plt.plot(xdata, func(xdata, *popt), 'r-', label="fit")
plt.show()

[1.05476613 9.97684632 1.01232058 3.98398901]
/Users/bob/opt/anaconda3/lib/python3.8/site-packages/scipy/__init__.py:146: UserWarning:
A NumPy version >=1.16.5 and <1.23.0 is required for this version of SciPy (detected version 1.2

3.4
warnings.warn(f"A NumPy version >={np_minversion} and <{np_maxversion}"

import numpy as np
import matplotlib.pyplot as plt
from scipy.optimize import curve_fit

def func(t, a1, a2, a3, a4, a5):
return al+a2*1000/(a3+(t-a4)**2)+a2*1000/(a3+(t-a5)**2)

xdata = np.linspace(0, 256, 256)

y = func(xdata, 10, 40, 380, 90, 128)

y_noise = 10 * np.random.normal(size=xdata.size)
ydata =y + y_noise

plt.plot(xdata, ydata, 'b-', label="data")

popt, pcov = curve_fit(func, xdata, ydata, bounds=(0, [15,50,400,100,150]))
plt.plot(xdata, func(xdata, *popt), 'r-', label="fit")

print(popt)
plt.show()

[ 11.64644952 36.87411943 348.59959756 89.94396599 127.40722864]
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import scipy.optimize
from numpy import *

params0=[15,50,400,100,150]

def fit_func(params,t,y):
al,a2,a3,a4,a5=params
residual=y-(al+a2*1000/(a3+(t-a4)**2)+a2*1000/(a3+(t-a5)**2))
return residual

params, cov=scipy.optimize.leastsq(fit_func,params0,args=(xdata, ydata))
print(params)

[11.6464605 36.87408547 348.59917376 89.94396212 127.40722848]
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import numpy as np
import matplotlib.pyplot as plt
from scipy.optimize import curve_fit

def func(t, a1, a2, a3, a4):
return al+a2/(a3+(t-a4)**2)

ndata =8

nparam = 4

xdata = np.linspace(1, 8, ndata)

y = func(xdata, 1, 10, 1, 4)

#y = func(xdata, 5,-2,0,7)

ydata =y

plt.plot(xdata, ydata, 'b-', label="data")

popt, pcov = curve_fit(func, xdata, ydata)
plt.plot(xdata, func(xdata, *popt), 'r-', label="fit")
plt.show()
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print(popt)

[ 5.4714478 -2.5260854 0.4296826 7.52394083]
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guess1 =[1,8,1,4.5]
from pprint import pprint
import scipy.linalg as linalg

plt.plot(xdata, ydata, 'b-', label="data")

plt.plot(xdata, func(xdata, *guess1), 'r-', label="fit")

plt.show()
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np.set_printoptions(precision=3, suppress=True)

df=np.zeros([ndata])



foriin range(0,ndata): [-6.476 50.763 6.775 0. ]

df[i] = ydatal[i]-func(xdatal[i], *guess1) [-0.821 6.775 0.933 0. ]

) [-0. 0. 0. 0.016]]
pprint(df)
array([ 0.396, 0.897, 2.538, 3.6 ,-1.4 ,-0.462,-0.103,-0.016]) Jdf = np.dot(np.transpose(Jac),df)

pprint(Jdf)
A—LYVRORKZREL, B#HsELTER

array([ 5.451, 2.537,-12.975,-33.309])
def func(t, al, a2, a3, a4):

return al+a2/(a3+(t-a4)*%2) np.dot(iJac, Jdf)

YIAET7 Y OHhOWHEFHBEHELTERLET array([-0.235, 5.592, 0.613,-0.52])
dfdal == z+—1 IhzEficd & DELUE(Quess) ICANBUL TRRIEZEUTOLS LD, A—THT7—%
o\ 1 [CEDVWTWBDODHERTESDTL &S,
dfda2 = z — (a5’+ (z — a4) )
a2 guess1 = guess1 + np.dot(iJac, Jdf)

dfdad = x —— pprint(guess1)
(a3+ (z— a4)2) array([ 0.765, 13.592, 1.613, 3.98 1)
a2 (—2x+2a 1ot _ I
dfdal ==  — — ( 4)2 plt.plot(xdata, ydata, 'b-', label="data")

(a3 + (z— a4)2) popt, pcov = curve_fit(func, xdata, ydata)
plt.plot(xdata, func(xdata, *guess1), 'r-', label="fit")
plt.show()

def dfdal(x, al, a2, a3, a4):
return 1
def dfda2(x, al, a2, a3, a4): 1

return (a3 + (x - a4)**2)**(-1)
def dfda3(x, a1, a2, a3, a4):

return -a2/(a3 + (x -a4)**2)**2 8
def dfda4(x, a1, a2, a3, a4):

return -a2*(-2*x +2*a4)/(a3 + (x-a4)**2)**2

JacobianfTFZ1ED £ 7.
4]
Jac=np.zeros([ndata,nparam])
foriin range(0,ndata): 5 ]
Jac[i,0] = dfda1(xdata[i], *guess1)
Jac[i,1] = dfda2(xdatali], *guess1) T ! ! ! ; T ! J
Jac[i,2] = dfda3(xdatali], *guess1) ! : ’ 4 > s ! s
Jac[i,3] = dfda4(xdatali], *guess1) COREEINIHANES BB ETIEDIRUET
pprint(Jac) '
array([[ 1. , 0.075,-0.046,-0.319], df=np.zeros([ndata])
[1.,0.138,-0.152,-0.761], foriin range(Q,ndata): '
[1. , 0.308,-0.757,-2.272], dy = ydata[i]-func(xdatali], *guess1)
[1.,08,-5.12,-5.12], dffil=dy
[1.,08,-512, 5.12] fpp””t(df) ([nd .
’ U ’ ac=np.zeros([ndata,nparam
[1.,0.308,-0.757, 2.272], foriin range(O,ndata):
[1.,0.138,-0.152, 0.761], Jac[i,0] = dfda1(xdatal[i], *guess1)
[1.,0.075,-0.046, 0.319]]) Jac[i,1] = dfda2(xdatal[i], *guess1)
Jac[i,2] = dfda3(xdatali], *guess1)
-1 _ (g7 ! Jac[i,3] = dfda4(xdatal[i], *guess1)
S = (J J) # pprint(Jac)
. iJac = linalg.inv(np.dot(np.transpose(Jac),Jac))
ERHET. # print(iJac)
Jdf = np.dot(np.transpose(Jac),df)
iJac = linalg.inv(np.dot(np.transpose(Jac),Jac)) # pprint(Jdf)
print(iJac) guess1 = guess1 + np.dot(iJac, Jdf)
pprint(guess1)

[[1.017-6.476 -0.821 -0. ]



plt.plot(xdata, ydata, 'b-', label="data")

popt, pcov = curve_fit(func, xdata, ydata)
plt.plot(xdata, func(xdata, *guess1), 'r-', label="fit")
plt.show()

array([1.151, 7.778, 0.655, 4.004])

17

ARIFERDERT U EDBED, WWMBICIERULTEY,

Gauss-Newton;£ICB 9 2 X E

Z MGauss-Newtonik & MHEN 2 IERE R/ TR IGREEN SR U e AE S U THREN
ICEBETHD, E<fEbNTWS. LML, PEREFECRL, BULA3RBULPTVOTER
PMRE. 2ROBEBEHERITZ2DTRL, SELBED 2AFEAW-DH Levenberg-Marquardt
ETH B, BBRGEESID Numerical Recipes in C(C EE&Ic K 2#{EETEDL 2 E)
WilliamH.Press i, #ifraFamit19931cd 5.

AR

Gaussian(IEEFR A m)ND T 1 v k

ERAHTHNEND, AU ZXBEH

- e )

V27 202
T74YREP>THEL LS.
BIZIE, FAIME(u)160%, REMB(0)I5H, E—IDABN20AELEL & 5.

import numpy as np
import matplotlib.pyplot as plt
from scipy.optimize import curve_fit

def func(x, a1, a2, a3):
return al*np.exp(-(x-a2)**2/a3**2)

ndata =100
xdata = np.linspace(1, ndata, ndata)
y = func(xdata, 20, 60, 15)

ydata =y
plt.plot(xdata, ydata, 'b-', label="data")

popt, pcov = curve_fit(func, xdata, ydata)
plt.plot(xdata, func(xdata, *popt), 'r-', label="fit")
plt.show()
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print(popt)
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guessl = [10,50,10]
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from pprint import pprint
import scipy.linalg as linalg

def dfdal(x,a1,a2,a3):
return np.exp(-(x-a2) ** 2 /a3 ** 2/ 2)
def dfda2(x,a1,a2,a3):
return al * (x-a2) /a3 ** 2 * np.exp(-(x-a2) **2 /a3 **2/2)



def dfda3(x,a1,a2,a3):
returnal * (x - a2) ** 2 /a3 ** 3 * np.exp(-(x-a2) **2 /a3 ** 2 / 2)

LIT O#EAR D SittingZEH TR 2.

nparam = 3
guess1 =[10, 50, 10]



